ECON 351

HOMEWORK II

1. Suppose there are five people 1, 2, 3, 4, 5 who rank projects A, B, C, D as follows
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(a) Sketch the preferences of each individual and identify the ones with a single peaked and the ones with a multi peaked preferences. Do you expect vote cycling in this case? Why or why not?

(b) Which candidate will be a Condorcet winner?

(c) Which candidate will be a plurality winner?

(d) Which candidate will be a Bordo count winner?


2. Logrolling allows voters (through their representatives) to express the intensity of their preferences. However, gains may come at the expense of greater general losses.” Discuss this statement by constructing a simple three voters, three projects example.

3. Write an essay on the voting systems. In this essay:

(a) Describe what is meant by the "voting paradox"

(b) Discuss the importance of the voting paradox; when and under what conditions is it likely to occur?

(a) Explain the conditions under which the results of voting reflect the preferences of the median voter

(b) Show how "logrolling" could lead to the acceptance of socially undesirable projects (that is excessive government spending)?

4.   

(a) Describe how one may use the median voter theorem to derive a demand curve for public good. Also discuss the problems that may arise and the solutions to these in implementing this procedure.

(b) Describe how one may use the median voter theorem to describe how candidates set their positions during an election. Also point out the underlying assumptions of the model and discuss their validity.

5. Suppose the military bureaucracy consistently misinforms Congress on total costs of producing military hardware. Assume that it underestimates the actual costs and political representatives believe these estimates. Show how this is likely to cause a loss in efficiency. Show the efficient output of the military hardware, the output desired by the military bureaucracy, and how the output chosen will differ from the efficient output even if the Congress attempts to achieve efficiency.

(b) Suppose that the utility possibilities frontier for two individuals is given by UA+4UB=100.

(c) Assuming that A th individual’s utility can only get the following figures

UA: 0  25  30  32  33  34 50  75  100

What is the social welfare maximizing utility levels for individual A and B if the societies social welfare function is Rawlsian.

(d) Now assume that the social welfare function is given by

     W=(UA)0.5 * (UB)0.5
Find the social welfare maximizing utility levels for individual A and B. (For part (b) ignore the utility schedule given for individual A in part (a) of the question).

6. Consider a monopoly that faces a demand curve Q= 9-P, where P is the price and Q is the level of demand. The monopoly is assumed to have a total cost function TC=Q.

(a) Compute the following

i. Profit maximizing level of output and price.

ii. Monopoly profit.

(b) Now assume a consumption tax of 2$ per unit is imposed

    (statutory incidence is on consumers)      

i. What is the after tax level of output produced.

ii. What is the price received by the producer.

iii. What is the price paid by the consumer.

iv. What is the tax revenue of the government.

v. Determine how much of the total tax is actually paid by the consumer.

vi. Determine how much of the total tax is actually paid by the monopolist.

vii. What is the change in monopolist's profit.

7.  The payroll tax used to finance social security programs is split (almost) evenly (in Turkey) between a contribution paid by the employee and a contribution paid by the employer.

QUESTION:

“ Given a perfectly competitive labor market this division of the payroll tax between employer and employee is a complete fiction”.  Do you agree? Explain.

8. Consider the following to tax schemes:

In the first tax scheme the first 300$ is tax exempt and the remaining earning are taxed at 20%. In the second system there is no tax exemption but the tax rate is 25% over the whole income earned? Which tax system is more progressive? Make sure that you define your measures of tax progressivity and show whether they conflict with each other or not. 

9.   Suppose that the citizens of Turkey can purchase all the petroleum they desire at the ongoing international price. If the Turkish government levies a tax on petroleum, who bears the burden. Illustrate your answer with a supply and demand diagram.

